
































Rupees 1900 divided into two parts and first

part was lent out at 8% per annum for 2 years

and the second at 4% per annum for 3 years.

Simple interest received in both the conditions

are in the ratio 16:7, then find amount lent out

at 4%? रुपये 1900 को दो भागों में विभावित वकया गया

और पहला भाग 8% प्रवत िर्ष की दर से 2 िर्ों के वलए

और दसूरे को 4% प्रवत िर्ष की दर से 3 िर्ों के वलए

उधार वदया गया। दोनों वथिवतयों में प्राप्त साधारण ब्याि

16:7 के अनपुात में ह,ै तो 4% पर उधार दी गई रावि ज्ञात

कीविए?

A) 1200 B) 700 C) 1800 D) 1400










